C/odn\ “ \KY N 15 o po%i%ve [Wkeg@ H’\QA

2 Q - | | | |
al #\ s nol & Per JCECJL Sg voe.
stz niol < e Jarl = (ael)
Cand %MCQZH\%@ are N0 S B/w mz
and G/wﬂ , e 0((\@()[0/1@...-..... ﬁ}
@1 Whaﬂtfjt U/QO[@«%{Q, mZJrl © nz*/g?,
B Frstt Graide nsb6.
G ot 1T e Ql%?g el o LI 1
ﬁhfl TfU@%r | ﬂé)oz ‘ HOWEUQP, ¥ -
s 3069 338532276645 973
’M& //L{(msz’] 15 g;er;@é% Hore. f



D@&; ‘ni g 5%“9/%‘ (s S@/\J“@\ce H\oﬂL /S
Tf(/@ e Fﬁ[gg - | )
A bep@%ﬁbm s a i Maﬂt*r%uff\es

| ﬁ@@ %%@D% PoPoSs Tion

Lepma - Weal Sogoc tion
C&v_/,@cg? o lloas jmmediste )g %mopmposl*
| %@ i é%/en 7LFUHA |

Shew — ¢ (36)- SO -6
oo SR
5 Reall 0 Sni@ s |

| LY S li) - 5/M><COS7 + %/Ny@&

B COS(x 1) > COSx(os T St S,



[HS- S/M£%9> Sw (6 ve)

o with 2 g M@@@Eé +%/M@Cos (zé)
x 2}9 \yif (8M&6®5w¥5u9®59 f

j\;@h D Swecas)oe «She [z -Swis
| | 387/%(;@99 SWE |
w@g _____fsW SwE) 500

%S/A/@ : %/wé ?HS



Find the flaw in the following arguments:
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